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(2) BRGHEE M, (R) hFEAW = {f (LS (x) € RIx]}. RFZEW W#HF—HE.
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6. (204)) WIEHHEWR f(x),g(x) e F[x], B(f(x),g(x))=1.

1) iE B8 FEAEME — B u(x), v(x) € F[x], %8 u(x)f(x)+v(x)g(x) =13 H degu(x) <deg g(x),
degv(x) <deg f(x);

2) % f()=x"-x* -3, g(x)=x*-x—1RERBu(),v(x).

7. (104} Bm,n NEESGEH (" -1,x" -1)=x"" -1.
8. (1043) ¥ AR mxniElE, BlnxmiEke. iEB I, — AB ¥4 AN I, - BAWE.

9. (10 4) BV hn RKKEME, @y ay fp foeV, BAla A=A DL
(ay,0)=(B,B) - IERAEV EH—ANEXT o #8 o(a) =45, o(a,)=p,.

10. (10 %) BV AnEKRKETME, o £V LHXHER EHro =04 AN EFEAIMEER
H 8 o ERHETHEREEN AR EHTRERNO.
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